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Candidates answer on the Question Paper.
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The businesses described in this question paper are entirely fictitious.

At the end of the examination, fasten all your work securely together.
The number of marks is given in brackets [ ] at the end of each question or part question.
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1 Drink Well is a manufacturer of glass bottles. It is situated in country X where wages are For
high. The company uses flow production methods in its factory. Examiner's

Use
Table 1 gives data about the company in 2008.
Table 1: Selected data for Drink Well 2008
Number of employees Average weekly wage [$] Total output per week
200 600 800000 units

(a) Calculate the output per employee per week in 2008.

.......................................................................................................................................... [2]
(b) Calculate the labour cost per unit in 2008.
.......................................................................................................................................... [2]
(c) Identify and explain two features of flow production.
Feature 1: -----------------------------------------------------------------------------------------------------------------------------
Feature 2: lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll
[4]
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The management of Drink Well is thinking of buying some new machinery to modernise For

its factory. Examiner's
Use
(d) Identify three factors Drink Well should consider before taking this decision and explain

why each factor is important.

Factor 1:

The management of Drink Well has also been thinking about moving its production to
another country where wages are lower.

(e) Do you think that the benefits of moving production to another country would be greater
than the disadvantages? Justify your answer.

© UCLES 2009 0450/11/M/J/09 [Turn over
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2 Table 2 shows the Profit and Loss statement for Healthy Foods.

Table 2: Healthy Foods, Profit and Loss Statement [$m]

2008
Sales 250
Cost of sales 150
Gross profit 100
Expenses 55
Net profit 45
Interest payable 5
Net profit before tax 40
Tax 10
Profit after tax 30
Dividends 2
Retained profit 28

(a) Calculate the gross profit margin in 2008.

2007
220
140

80
55
25
0
25
6
19
15
4

(b) Identify two examples of expenses in a business.

Example 1:

Example 2:

(c) Identify and explain two methods of promotion that Healthy Foods might have used to
increase sales in 2008.

Method 1:

Explanation:

Method 2:

Explanation:
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(d) In 2008 sales increased. Identify three other changes in the Profit and Loss account of For
Healthy Foods in 2008 compared to 2007. Explain a possible reason why each change | Examiner's
has occurred. Use
CRANGE 1 eeeeeeessseessssseessssss s s s s s sss s s s
EXPIANALONT ||| o oeoeeseesssssssss s sssss s ssssssssssss s sssss s s sessssssssss

Change 3:

EXPIANAUONT ||| e eess s ssss e ssss s sesssess s ses s sesa s

(e) How useful is a Profit and Loss statement to different stakeholders of Healthy Foods?
Justify your answer.

© UCLES 2009 0450/11/M/J/09 [Turn over
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3 Electrux manufactures a range of electrical products such as electric kettles and coffee
machines for different target markets. Electrux believes that its products are of excellent
quality and that its marketing mix helps to sell its products. Electrux currently sells its
products through a distribution chain shown in Fig. 1. However it is always looking for new
ways to boost sales as the market for electrical products is very competitive.
Fig. 1: Electrux channel of distribution

Manufacturer —— Wholesaler ———» Retailer ——» Customer

(a) Identify two elements of the marketing mix.

Element 1:

(c) Identify and explain two advantages to a retailer of buying products from a wholesaler.
AGVANTAGE T e eessessss s sssssssssss s sssssess s s sass e SRR RRe e SR RR s sR RS sRR R
EXPIANAHONT e eeeeeee e eees e eeeeees e eeee e eees e eesses e eemeeee e eees e senmeesee
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(d) Identify and explain the importance of three factors that Electrux should consider when For

deciding on the packaging of its products. Examiner's
Use

Factor 1:

EXPIANGLONT || ettt ssss s s s b ess s sss b ses s e

Factor 2:

EXPIANAUONT ||| e eessssseeesesssss e s ssss s sesssasse s sss s sess s

Factor 3:

EXPIANALONT ||| e sessssseeesesssss e sesssss e sesssmsse s sess s sessaas

Electrux is thinking of changing its channel of distribution so that it sells directly to its
customers.

(e) Would you recommend that they make this change? Justify your answer.

© UCLES 2009 0450/11/M/J/09 [Turn over
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4 Chung Textiles manufactures clothes. A large number of its workers leave the business For
each year. ‘Recruiting new workers is a problem’ said Chung. ‘We pay high wages but we | Examiner's
still find it hard to get people.” Chung Textiles’ Health and Safety record has been criticised Use

because of the number of accidents in its factory. However, Chung said ‘All our staff have
been trained and we are not to blame if people make mistakes. We give all workers an
employment contract, pay them well and give them training.’

(a) Identify two dangers to the Health and Safety of workers that might arise in Chung
Textiles’ factory.

e
DN GO 2. e eee e eee e eee e eeeeee e e eee e e seem e meeeeeseseemeeseneeseeenen
.......................................................................................................................................... [2]
(b) Identify two pieces of information in an employment contract.
Information 1: -----------------------------------------------------------------------------------------------------------------------
Information 2: -----------------------------------------------------------------------------------------------------------------------
.......................................................................................................................................... [2]
(c) Explain how employment contracts help workers.
[4]

© UCLES 2009 0450/11/M/J/09
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(d) Identify and explain three problems that a large number of workers leaving each year For
would create for Chung Textiles. Examiner’s
Use

Problem 1:

EXPIANALONI ||| st sss s sss s e ss s e s s e s e

(e) Do you think that Chung Textiles should spend more money on improving Health and
Safety in its factory? Justify your answer.

© UCLES 2009 0450/11/M/J/09 [Turn over
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5 The Government of country A has told all its car manufacturers that they must be ‘more
environmentally responsible’. However, General Cars is worried about the cost of making
its factories less polluting and its products more environmentally friendly. The market for
cars in country A is becoming more competitive. Also, the country is experiencing an
economic boom and the Government has increased interest rates as a way of controlling
the business cycle.

(@) What is meant by a ‘business cycle’?

.......................................................................................................................................... [2]

(b) Identify two features of an ‘economic boom’.
Feature 1: ------------------------------------------------------------------------------------------------------------------------------
Feature 2: ------------------------------------------------------------------------------------------------------------------------------
[2]

(c) Identify and explain two likely consequences for General Cars of a rise in interest rates
in country A.

CONSEQUENCE 12 ||| e sssss s ss s s s s AR s s s SR
EXPIANGLONT et s s s s s b as s s
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(d) Identify and explain three changes that General Cars might make in order to act in a For

more environmentally responsible manner. Examiner's
Use

Change 1:

EXPIANGLONT e eeet e ssseeeessassesses s ssss s ss s e s s

Change 2:

EXPIANGLONT || e ees s s sseesesssssesses s ssss e sses s ss s e s s

Change 3:

EXPIANALONT | et s sseesesssssesses s ssss s ss s esae s

(e) Do you think that an increase in competition always benefits consumers? Justify your
answer.

© UCLES 2009 0450/11/M/J/09
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1 Living Well is a health business providing fitness programmes, beauty treatments and For
massages. Living Well is a labour intensive business and the quality of the services that it | Examiner's
provides is important in attracting customers. Use
Table 1 shows data for Living Well in 2007 and 2008.

Table 1: Selected Data

Year Sales $ Number of Employees
2007 160 000 20
2008 187 000 22

(a) Calculate the value of sales per employee in 2008.

(b) Identify two reasons why calculating the sales per employee is important for the
management of Living Well.

Reason 1:

(c) Identify and explain two features of a labour intensive business.

Feature 1:

Explanation:

Feature 2:

EXPIANALONT | e tesseseeeeeessssseeseessss s seessss s sess s e s senesra e
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(d) ldentify and explain three methods that Living Well could use to increase the sales For

turnover of the business. Examiner's
Use

Method 1:

EXPIANALONI || e ees s sss s sss s e ss s e s s e s e

Method 2:

EXPIANAUONT ||| e eessssseeesesssss e s ssss s sesssasse s sss s sess s

Method 3:

EXPIANALONT ||| e sessssseeesesssss e sesssss e sesssmsse s sess s sessaas

Living Well is a fast growing company that is thinking about buying a major competitor
business.

(e) Do you think Living Well should consider buying another health business? Justify your
answer.

© UCLES 2009 0450/12/M/J/09 [Turn over
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2 Table 2 shows the Profit and Loss statement for Healthy Foods.

Table 2: Healthy Foods, Profit and Loss Statement [$m]

2008
Sales 250
Cost of sales 150
Gross profit 100
Expenses 55
Net profit 45
Interest payable 5
Net profit before tax 40
Tax 10
Profit after tax 30
Dividends 2
Retained profit 28

(a) Calculate the gross profit margin in 2008.

2007
220
140

80
55
25
0
25
6
19
15
4

(b) Identify two examples of expenses in a business.

Example 1:

Example 2:

(c) Identify and explain two methods of promotion that Healthy Foods might have used to
increase sales in 2008.

Method 1:

Explanation:

Method 2:

Explanation:

© UCLES 2009
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(d) In 2008 sales increased. Identify three other changes in the Profit and Loss account of For
Healthy Foods in 2008 compared to 2007. Explain a possible reason why each change | Examiner's
has occurred. Use
CRANGE 1 eeeeeeessseessssseessssss s s s s s sss s s s
EXPIANALONT ||| o oeoeeseesssssssss s sssss s ssssssssssss s sssss s s sessssssssss

Change 3:

EXPIANAUONT ||| e eess s ssss e ssss s sesssess s ses s sesa s

(e) How useful is a Profit and Loss statement to different stakeholders of Healthy Foods?
Justify your answer.

© UCLES 2009 0450/12/M/J/09 [Turn over
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3 Party Wear manufactures clothes targeted at young women. The business spends a lot on
advertising its products. Market research shows that the demand for its products is price
elastic. Party Wear is thinking of selling its products on the Internet rather than through the
retail shops it uses at present.

(a) Identify two aims of advertising.

(c) Identify and explain two advantages of market research.
AGVANEAGE 11 e saeese e s sss s s s es s e sess e e sessess e sensss e
EXPIANAHONT e eeeeeee e eeeeeeeeeeeeees e eeee e eeees e eesses e seemseeemeneees e seemeesees
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(d) Identify and explain the importance of three factors that Party Wear should consider in For

pricing their products. Examiner's
Use

Factor 1:

(e) Do you think the benefits to Party Wear of selling on the Internet are greater than the
advantages of using retail shops? Justify your answer.

© UCLES 2009 0450/12/M/J/09 [Turn over
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4 Chung Textiles manufactures clothes. A large number of its workers leave the business For
each year. ‘Recruiting new workers is a problem’ said Chung. ‘We pay high wages but we | Examiner's
still find it hard to get people.” Chung Textiles’ Health and Safety record has been criticised Use

because of the number of accidents in its factory. However, Chung said ‘All our staff have
been trained and we are not to blame if people make mistakes. We give all workers an
employment contract, pay them well and give them training.’

(a) Identify two dangers to the Health and Safety of workers that might arise in Chung
Textiles’ factory.

e
DN GO 2. e eee e eee e eee e eeeeee e e eee e e seem e meeeeeseseemeeseneeseeenen
.......................................................................................................................................... [2]
(b) Identify two pieces of information in an employment contract.
Information 1: -----------------------------------------------------------------------------------------------------------------------
Information 2: -----------------------------------------------------------------------------------------------------------------------
.......................................................................................................................................... [2]
(c) Explain how employment contracts help workers.
[4]

© UCLES 2009 0450/12/M/J/09
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(d) Identify and explain three problems that a large number of workers leaving each year For
would create for Chung Textiles. Examiner’s
Use

Problem 1:

EXPIANALONI ||| st sss s sss s e ss s e s s e s e

(e) Do you think that Chung Textiles should spend more money on improving Health and
Safety in its factory? Justify your answer.

© UCLES 2009 0450/12/M/J/09 [Turn over
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5 The Government of country A has told all its car manufacturers that they must be ‘more For
environmentally responsible’. However, General Cars is worried about the cost of making | Examiner's
its factories less polluting and its products more environmentally friendly. The market for Use
cars in country A is becoming more competitive. Also, the country is experiencing an
economic boom and the Government has increased interest rates as a way of controlling
the business cycle.

(@) What is meant by a ‘business cycle’?

.......................................................................................................................................... [2]

(b) Identify two features of an ‘economic boom’.
Feature 1: ------------------------------------------------------------------------------------------------------------------------------
Feature 2: ------------------------------------------------------------------------------------------------------------------------------
[2]

(c) Identify and explain two likely consequences for General Cars of a rise in interest rates
in country A.

CONSEQUENCE 12 ||| e ssssss s s s s s s sRasssesssssssss s s s R
EXPIANGLONT et s s s s s s
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(d) Identify and explain three changes that General Cars might make in order to act in a For

more environmentally responsible manner. Examiner's
Use

Change 1:

EXPIANALONT e eees e sseeeesssssesses s ssss s ss s e sae s

Change 2:

EXPIANGLONT || e ees s s sseesesssssesses s ssss e sses s ss s e s s

Change 3:

EXPIANALONT | et s sseesesssssesses s ssss s ss s esae s

(e) Do you think that an increase in competition always benefits consumers? Justify your
answer.

© UCLES 2009 0450/12/M/J/09
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